From:	Sara Swaney
To:	Granda-Paez, Byron
Cc:	Shaun Sandoval
Subject:	Re: TS-22-05 Cameras
Date:	Wednesday, August 10, 2022 8:44:52 AM

Caution! This message was sent from outside your organization.

Allow sender Block sender

Good morning,

This item is appropriate as well.

Thank you and have a great day,

Sara Swaney VP of Finance Sandoval Custom Creations, Inc. P.O. Box 155 | Larkspur, CO 80118 (303) 956-9972 sara@sccicovert.com

Thank you for choosing SCCI to be your surveillance outfitter.

This email and any attachments thereto, contains confidential and/or trade secret information that is not intended or authorized for public disclosure and is provided strictly on the basis that the confidentiality of this information will be protected by its recipient from any unauthorized disclosure. This communication is intended to be confidential and solely for use of the persons or entities addressed above. If you are not an intended recipient, be aware that the information contained herein may be protected from unauthorized use by privilege or law, and any copying, distribution, disclosure, or other use of this information is prohibited. This communication and any attachments may contain EXPORT-CONTROLLED technical data that is subject to the International Traffic In Arms Regulations (ITAR), or the Export Administration Regulations (EAR). Export of this material is prohibited without a valid export license issued by the US Department of State, Office of Defense Trade Controls as prescribed in the International Traffic in Arms Regulations, Title 22, Code of Federal Regulations, Parts 120-130. If you have received this communication in error, please contact the sender by return e-mail or telephone the above number immediately and delete or destroy all copies. Thank you for your cooperation.

On Aug 9, 2022, at 5:00 PM, Granda-Paez, Byron

bgrandapaez@ppines.com> wrote:

Hi Sara,

Thank you for the information. I will discuss with staff to see if that would affect the award but at this time I do not believe it will.

Hopefully this is the last time I have to ask but can you also confirm line item 15, the lowest vendor for that line item quoted that incorrectly as well.

Vendor 4	Sandoval Custom Creations, Inc.				
#	Items	Part Number	QTY	Unit Price	Total Cost
#0-15	Cradlepoint AER2200 Power adapter	170751-000	20	\$118.00	\$2,360.00

Thanks,

Byron Granda Paez City of Pembroke Pines Procurement Department 8300 South Palm Drive, Pembroke Pines, FL 33025 (P): (954) 518-9025, (F) : (954) 518-8902 (E): bgrandapaez@ppines.com (W): www.ppines.com From: Sara Swaney <sara@sccicovert.com>
Sent: Tuesday, August 09, 2022 4:02 PM
To: Granda-Paez, Byron
bgrandapaez@ppines.com>; Shaun Sandoval <shaun@sccicovert.com>
Subject: RE: TS-22-05 Cameras

Caution! This message was sent from outside your organization.	Allow sender Block sender
----------------------------------------------------------------	-----------------------------

Hello Byron,

I am confirming that all cameras have been accurately quoted. I would like to provide full transparency that as of right now we are looking into Q4 and Q1 of 2023 for delivery.

Thank you very much,

Sara Swaney

VP of Finance

Sandoval Custom Creations, Inc.

P.O. Box 155 | Larkspur, CO 80118

(303) 956-9972

sara@sccicovert.com

Thank you for choosing SCCI to be your surveillance outfitter.

This email and any attachments thereto, contains confidential and/or trade secret information that is not intended or authorized for public disclosure and is provided strictly on the basis that the confidentiality of this information will be protected by its recipient from any unauthorized disclosure. This communication is intended to be confidential and solely for use of the persons or entities addressed above. If you are not an intended recipient, be aware that the information contained herein may be protected from unauthorized use by privilege or law, and any copying, distribution, disclosure, or other use of this information is prohibited. This communication and any attachments may contain EXPORT-CONTROLLED technical data that is subject to the International Traffic In Arms Regulations (ITAR), or the Export Administration Regulations (EAR). Export of this material is prohibited without a valid export license issued by the US Department of State, Office of Defense Trade Controls as prescribed in the International Traffic in Arms Regulations, Title 22, Code of Federal Regulations, Parts 120-130. If you have received this communication in error, please contact the sender by return e-mail or telephone the above number immediately and delete or destroy all copies. Thank you for your cooperation.

From: Granda-Paez, Byron <<u>bgrandapaez@ppines.com</u>>
Sent: Monday, August 8, 2022 4:36 PM
To: Sara Swaney <<u>sara@sccicovert.com</u>>; Shaun Sandoval <<u>shaun@sccicovert.com</u>>
Subject: RE: TS-22-05 Cameras

HI Sara,

Thank you for getting back to me and confirming your quote. Can you please confirm a few more line items. The lowest vendor for line items 2-9 stated they quoted us incorrectly and you are the next lowest vendor.

Vendor 4	Sandoval Custom Creations, Inc.				
#	Items	Part Number	QTY	Unit Price	Total Cost
#0-2	Axis Camera	Q1798-LE	8	\$1,337.00	\$10,696.00
#0-3	Axis Camera	Q3819-PVE 180°	30	\$1,485.00	\$44,550.00
#0-4	Axis Camera	Q6100-E	2	\$1,118.00	\$2,236.00
#0-5	Axis Camera	Q6315-LE PTZ	9	\$2,228.00	\$20,052.00

#0-6	Axis Camera	M2036-LE MK II	38	\$296.00	\$11,248.00
#0-7	Axis Camera	P3719-PLE 360°	9	\$1,188.00	\$10,692.00
#0-8	Axis Camera	D2110-VE Radar	6	\$1,114.00	\$6,684.00
#0-9	Axis Camera	A8207-VE MK II	7	\$1,114.00	\$7,798.00

Thanks,

Byron Granda Paez City of Pembroke Pines Procurement Department 8300 South Palm Drive, Pembroke Pines, FL 33025 (P): (954) 518-9025, (F) : (954) 518-8902 (E): bgrandapaez@ppines.com (W): www.ppines.com

From: Sara Swaney <<u>sara@sccicovert.com</u>>
Sent: Monday, August 08, 2022 3:20 PM
To: Granda-Paez, Byron <<u>bgrandapaez@ppines.com</u>>; Shaun Sandoval <<u>shaun@sccicovert.com</u>>
Subject: RE: TS-22-05 Cameras

Allow sender | Block sender

Caution! This message was sent from outside your organization.

Hello Byron,

I can confirm those items are not alternates.

Thank you very much and have a great day,

Sara Swaney

VP of Finance

Sandoval Custom Creations, Inc.

P.O. Box 155 | Larkspur, CO 80118

(303) 956-9972

sara@sccicovert.com

Thank you for choosing SCCI to be your surveillance outfitter.

This email and any attachments thereto, contains confidential and/or trade secret information that is not intended or authorized for public disclosure and is provided strictly on the basis that the confidentiality of this information will be protected by its recipient from any unauthorized disclosure. This communication is intended to be confidential and solely for use of the persons or entities addressed above. If you are not an intended recipient, be aware that the information contained herein may be protected from unauthorized use by privilege or law, and any copying, distribution, disclosure, or other use of this information is prohibited. This communication and any attachments may contain EXPORT-CONTROLLED technical data that is subject to the International Traffic In Arms Regulations (ITAR), or the Export Administration Regulations (EAR). Export of this material is prohibited without a valid export license issued by the US Department of State, Office of Defense Trade Controls as prescribed in the International Traffic In Arms Regulations, Parts 120-130. If you have received this communication in error, please contact the sender by return e-mail or telephone the above number immediately and delete or destroy all copies. Thank you for your cooperation.

From: Granda-Paez, Byron <<u>bgrandapaez@ppines.com</u>> Sent: Monday, August 8, 2022 8:14 AM To: Shaun Sandoval <<u>shaun@sccicovert.com</u>> Cc: Sara Swaney <<u>sara@sccicovert.com</u>> Subject: TS-22-05 Cameras Importance: High

Good morning Shaun,

Can you please confirm you have quoted us the requested items (not alternates) for the below line item which we intend to award to you?

Vendor 4 Total	Sandoval Custom Creations, Inc.				
Award	\$28,960.00				
				Unit	
#	Items	Part Number BA3-2200120B-	QTY	Price	Total Cost
#0-13	Cradlepoint AER2200 Branch Router	NNN	20	\$1,448.00	\$28,960.00

Please confirm before COB today if possible.

Thanks,

Byron Granda Paez City of Pembroke Pines Procurement Department 8300 South Palm Drive, Pembroke Pines, FL 33025 (P): (954) 518-9025, (F) : (954) 518-8902 (E): bgrandapaez@ppines.com (W): www.ppines.com

The City of Pembroke Pines is a public entity subject to Chapter 119 of the Florida statutes concerning public records. Email messages are covered under Chapter 119 and are thus subject to public records disclosure. All email messages sent and received are captured by our server and retained as public records. The City of Pembroke Pines is a public entity subject to Chapter 119 of the Florida statutes concerning public records. Email messages are covered under Chapter 119 and are thus subject to public records disclosure. All

email messages sent and received are captured by our server and retained as public records disclosure. The City of Pembroke Pines is a public entity subject to Chapter 119 of the Florida statutes concerning public records. Email messages are covered under Chapter 119 and are thus subject to public records disclosure. All email messages sent and received are captured by our server and retained as public records.